Fourth Suit Forcing

Convention Difficulty: Improvers

After you have made three natural suit bids, you very rarely with to play in the fourth suit, so bidding the fourth suit is given a conventional meaning. It asks partner to describe his hand further, helping the bidder to pick the correct contract. It also avoids some hands that seem to be 'impossible' to bid. 

Bids and Responses
	( A9543
( 532
( K7
( A106



Suppose you hold:

After the bidding:

1(    pass    1(   pass

2(    pass      ?

What do you bid? You want to make an encouraging bid, as you have 11 points and could have game values between you. However, you do not have enough clubs to bid 3(, bidding 3( would suggest far better support, a 2( rebid would show a weaker hand with more in spades and the suit is far too weak to think of bidding 3(. The logical bid is 2NT, but surely partner will expect you to have some sort of stop in hearts for this bid? You seem to have no sensible bid available

The problem is solved by bidding 2( the fourth suit. It shows invitational values (about 10+ points) at the 2-level and game values at the 3-level. It denies the ability to make a natural bid, and asks opener to describe his hand further.

If he has a heart stop he bids 2NT or 3NT with additional values (14+ points)
With 3 spades, or a good doubleton, he bid 2( 
With 5 clubs he bids 3( 
With 6 diamonds, or a good 5 with no alternative, he bids 3( 
With 15 points and none of the above, he raises the Fourth Suit, a game-forcing bid

Notes

A modern idea, part of Standard English, is to play that in the auction 
1(    1(  

1(    1(  
1( is a natural bid showing spades. To bid the 'fourth suit' in that auction, you bid 2( instead of 1(  
